Algebra Equazioni irrazionali
1 [V1=—x=-1 impossibile
2 |2¥x=3+1=5 x=11
3 Vv1l1—3x =8 x=-21
. 3x+1_2 ng
x—1 7
5 \/7x+2=2 x=l
4 16
6 [Vx—4=2 x =12
-8 ++79
7 2 —x2+4‘—8x=1 X12 = _2\/_
8 |Y13x—5=5 x =10
4
9 |V3x—-5=1 x=3
10 |\/x —3=5—x x=4
11 —.6x+1+3=x x=4
2
9
12 | V10 —x=2x+8 x=-7
x+3 1
1B | Jx2+x+2= > x1——§;x2—1
4 lVx+1=x-1 x=3
3 1
51 yYx3—-5x—4=x-1 0 =-gx=3
16 | 14++vVx2+3=3x x=1
17 | V4x?2 —7x —6=9 — 2x x=3
18 V41 —x2+1=x x=5
2
19 x2+x)+2=4—x x=z
1
20 | 3/3x — 43/9x2 —5x +1=3x—2 x=gix =4
21 | —17 =+/169 — x2 impossibile
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2 | x++/2x—x2 =17 impossibile
23 | 3x+V6x +4 =38 x =10
24 | 4x +V54+4x =7 x=1
25 |x+4/5(x+2)=8 x=3
1 5
26 2V5_4‘x+4‘x=5 xl—Z;xZ:Z
27 |V3x—54+3=x x=7
28 | \J4x2+T7x—2=x+2 xn=-2x=1
29 4x2 —7x—6 =9 — 2x x=3
30 | 3x +4/9x2%2 — 46x = 10 impossibile
31 |V2x+5=3(x—1) x=2
1 2
32 1 [2x(3x—1) = —-(1+ 3x) x==5
5 7
3B Jx2+3x—-6=2x—-6 x=7
¥ \x2—-114+1=x x=6
5
35 | {Jx2—1=x+2 x=-7
36 |44+ x—+x?—5x+4=2x x=4
X
37 \/16—?{2:54‘2 x1=—4;x2=%
38 |v/x—24+5=5x impossibile
9 | Yxd+2x2—1=x+1 X =-2x=-1
3 1 3
40 | /8x3 +20x+7 =2x+1 n=-3ixn=;
41 | 3v3x —3 =2vV3x x=3
49
2 |5x—12x+7=0 R T
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B JE—3x—x2—x—-1=0 X, =-1%V6
44 [ \36+x =18 —+/x x = 64

5 | 3GZ—4) =V5x n=-3im=3
46 | \J2x2 —x -7 =+x2—3x—8 x=-1

47 | J3—2x —x2 =/x2 —5x + 4 x1=%;x2=1
48 | \x + 4ab —Vx = 2a x=(b—a)’
49 | \2x — 3a = 3va —V2x x=2a

50 [V2x—18 =3 ++/x x =81

51 |V3x+28=5+Vx—3 X =120 =7
52 | V32 +x—Vx—4=2 x =68

5 |33x2 —5x18=32x 12 =2 % =3
54 | \/3x2 — 2x + 25 =3 — 2x x=5-41
55 | Vx—2+V2x—1=0 x=1

56 |V3x—5—-V2x—5=1 =3 x=7
57 |Vx—8—10=—Vx — 28 X =44

% V2x+1+1=2Vx—1 x=2(2+2)
59 |vVx—8—10 =Vx — 28 impossibile

60 |Yx—3+V2x+4=1 x=2

61 |[V1+3x—1=vV2x—-1 x;=1;,x=5
62 | 2vx +16 —Vx — 16 = 10 x1=20;x2=3é—0
63 | VB-—x+Vx—2=1 X =2;x =3
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64 |Vx+2—-Vvx—3—-1=0 x=7

65 |Vx+1—Vx+6=-1 x=3

66 |V2—3x=—-V3x+7+3 X=—2 %=
7 VEF7-2=vi-1 ‘=2

68 |3 —2x=2—+/x24+3 impossibile
69 | Y2x — 28 — V2x + 28 = -2 X1, = +18

0 | ViT3-2=vx=5 x=6

71

V3—x+Vl—x=v4—-2x

x1=1;x2=3

2 [Vx+1+Vx+6=V2x+7 x| =—6; x, = —1
X

73 \/x—2+\/3x—1=2/§+2 L #A

74 | Vx+5—vVx=v2x—7 x =4

75

Vi+1+Vx=vV2x+1

x1=0;x2=1

2

76 |Vx+2=vV6—x—V5—x x=1-§\/£
77 [ N2x+6=vVx+2—-Vx—2 x =13
78 | V2x—2=1/3x2+5x+4 x =13

2
79 | Y3-3x—Y3x—1=0 x=3
80 | /3= 2x = \/3x2 — 2x + 25 x=5-Va1
81 le x=0

V2 —+x
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